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21- A sum of money amounts to Rs. 9800 after 5 years and Rs. 12005 after 8 years at
the same rate of simple interest. The rate of interest per annum is:
e Ab5%

e B.8%
e C.12%
e D.15%

¢ E.None of these

Answer & Explanation
Answer - C (12%)
Explanation -

S.1. for 3 years = Rs. (12005 - 9800) = Rs. 2205.

2205
S.1. for 5 years = Rs. X 5 =Rs. 3675.
3
Principal = Rs. (9800 - 3675) = Rs. 6125
100 x 3675
Hence, rate = % =12%

6125 x5
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22- A man invests a certain sum of money at 6% per annum simple interest and another
sum at 7% per annum simple interest. His income from interest after 2 years was Rs.

354. One-forth of the first sum is equal to one-fifth of the second sum. The total sum
invested was:

« A.2600
« B.2700
« (C.2800
« D.2900

¢ E.None of these

Answer & Explanation
Answer - B (2700)

Explanation -

Let the sums be X and Y.

XX6x2 yX7X2 ()]
+ =354 or 6X + 7y = 17700.
100 100
X .y ()
Also, = or5X-4y=0

4 5
Solving (i) and (ii), we get : x = 1200 and y = 1500.
Total sum = Rs. 2700.


http://techofworld.in/
http://techofworld.in/
javascript:;
javascript:;
javascript:;
javascript:;
javascript:;
javascript:;

Techofworld.In Techofworld.In

23- If simple interest on a certain sum of money is Rs. 256 and the rate of interest per
annum equals the number of years, then the rate of interest is:

e A.13%
e B.14%
e C.15%
e D.16%

¢ E.None of these

Answer & Explanation

Answer - D (16%)
Explanation -

Here, | = Rs. 256

Let the principal be Rs. 100

Let the rate of interest per annum be X%
The, time(T) = X years

Therefore, using the formula

100 x |
R =
PxT
100 x 256
We have, x = X2 =256 0r X = 16%
100 x X

Rate of interest per annum is 16%
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24- If the simple interest on Rs. 3000 is less than the Simple Interest on Rs. 2000 at 5%
by Rs. 50, find the time?

« Al
e B.2
« C3
e D4

¢ E.None of these

Answer & Explanation
Answer - A (1)

Explanation -

Here P; = Rs. 3000
P, = Rs. 2000

(Difference in P) x N xR
Difference in interest =

100
1000 x 5 x N
50 = ; N =1 year
100
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25- Alends Rs. 2500 to B and a certain sum to C at the same time at 7% per annum
simple interest. If after 4 years, A altogether receives Rs. 1120 as interest from B and C,
then the sumlentto Cis:

« A.700

« B.1500
- C.4000
« D.6500

¢ E.None of these

Answer & Explanation
Answer - B (1500)

Explanation -
2500 x 7 x 4 XX7x4
Let the sum lent to C be Rs. X, Then, + =1120
100 100
7
X =(1120 - 700)
25
420 x 25
X= _______ =1500.

7
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26- A sum of Rs. 7700 is to be divided among three brothers Suresh, Bala and Krishnan
in such a way that simple interest on each part at 5% per annum after 1, 2 and 3 years,
respectively remains equal. The Share of Suresh is more than that of Krishnan by:

« A.2500

« B.2800
« (C.3000
« D.3200

¢ E.None of these

Answer & Explanation

Answer - B (2800)
Explanation -

Here, T1=1,T2=2,T3=3
Ri=R2,=R3=5%
The Shares of Suresh, Bala and Krishnan will be in the ratio
1 1 1 1 1 1

RiT1 R2T2  RasT3 Ix6 2x5 3x5

1 1 1
= . =6:3:2
1 2 3
Sum of proportionals =6 + 3 +2 = 11.

6

Share of Suresh = X 7700 = Rs. 4200
11
3

Share of Bala = X 7700 = Rs. 2100
11
2

Share of Krishnan = X 7700 = Rs. 1400
11

Therefore, Suresh's share is 4200 - 1400 = Rs. 2800 more than that of Krishnan
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27- A sum of money is lent at S.I for 8 years. If the same amount is paid at 5% higher,
Ramesh would have got Rs. 100 more. Find the Principal?
« A.200

e B.240
« C.250
« D.300

¢ E.None of these

Answer & Explanation
Answer - C (250)

Explanation -

Let the Principal be P Rs.
Let the first rate of interest be r
The difference inris 5
5 x P x N = (Difference in interest) x 100
5xPx8=100x 100
100 x 100
p= = Rs. 250
5x8
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28- A sum was put a simple interest at a certain rate for 2 years. Had it been put at 3%
higher rate, it would have fetched Rs. 72 more. The sumis:

e A8%
e B.9%
e C.10%
e D.11%

¢ E.None of these

Answer & Explanation
Answer - C (10%)
Explanation -

We have, T = 2 years.
Let the principal be Rs. X

X
Then, simple interest (I) = Rs.
5
X
= 100 x
Rate of interest (R) = 100 x1 5
PxT XX?2
100
=10% p.a.

5x2
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29- Mr. Satish invested an amount of Rs. 12000 at the simple interest rate of 10% per
annum and another amount at the simple interest rate of 20% per annum. The total
interest earned at the end of one year on the total amount invested became 14% per
annum. Find the total amount invested?

« A.20,000
 B.21,000
- (C.20,800
 D.21,000

¢ E.None of these

Answer & Explanation
Answer - A (20,000)

Explanation -

Here, P1 = Rs. 12000, Ry = 10%, P> =?, R, = 20%, R = 14%
Therefore, using the formula
P1R1 + P2Rz
R =
P1+ P2
12000 x 10 + P2 x 20
We get, 14 =
12000 + p2
or, P2 = Rs. 8000
Total amount invested = Rs.(12000 + 8000) = Rs. 20000
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30- A sum of Rs. 2600 is lent out in two parts in such a way that the interest on one part

at 10% for 5 years is equal to that on another at 9% for 6 years. The sum lent out at
10% is:

A.1150
B.1250
C.1350
D.1450

E.None of these

Answer & Explanation
Answer - C (1350)

Explanation -

Let the sum lent at 10% be Rs. a and that lent at 9% be Rs. (2600 - a). Then,

ax1l0x5 (2600 -a) x9x 6
100 100
=> 50a = (2600 x 54) - 54a
2600 x 54
a= = 1350.
104

Sum lent at 10% = Rs. 1350
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